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3. :
Sameer Mon is associated with which sports?

(A) Boxing (B) Wrestling (Qb/}mm D) 1.
4. Who is the author of the book "The Discovery of India'? o ]Ump
(A) RK. Nm—ﬂym (B) Arundhatit Roy (Wﬂrlal Nehry (D) Mahatma G
" Tyﬁn known as ‘Silicon Valley’ is in which country? o
(AATSA B) UK ) China (D) Egypt @
6. Who is the present Chief Minister of Kerala? )

(A) VS. Achuthanandan

ol | (B) Oommen Chandy
() Pinarayi Vijayan D) AK. Antony
7. Who is popularly referred as 'The Lion of the Punjab'?

yf].nla l.ajpat Rai (B) Bal Gangadhar (C) Jayaprakash (1) Jawaharlal ! @

[1lak Naravan

: : .
8. Which of the following acts as a layer protecting the Earth from

) ¢ harmful rays of the Su
(A) Clouds (B) Gravity force (CC) Vacuum W}hcrc

9. Which is the main component of bones and teeth? K
(A) Calc y (D) Calcium Sulphate

(Calctum Nitrate (B) Calcium Carbonate (C) Calctum Phosphate

10. The first post office in India was established by British East India company in-
(A) Bombay (B) Madras (Qﬁ (D) Hydcrnba@

11. Who was the world's first woman Prime Minister?

(A) Indira Gandhi (B) Golda Meir (C) Margaret Thatcher Wﬁandﬂrﬁnnik@

12. Which among the following is rich in Vitamin B-12?

-..r:,y/r-'iah (B) Apple (C) Watermelon (D) Cashew nut @@

13. Which is the official State bird of Maharashtra?

‘A) Yellowfooted (B) Hill myna (C) Blood pheasant (D) Emerald dove
¢n pigeon

14. Fort William is located in Kolkata on the banks of the river-

(A) Bramhaputra (IW]II}' (C) Ganga (D) Yamuna

15. Naira is the currency of which country?

(J\Mg,{;riﬂ (B) Niger () Nepal (1D) Nanubia @

16. Which colour cannot be seen by insects?

(A) Red’ (B) Blue (C) Green (D) Yellow

17. Which is the most populatcd country in the world?

()) China (B) USA (C) Russia (D) Brazil
Wy a?eadmm
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. Which of the following is also cafled as the 'Fouse of Elders'

¢\ Rapva Sabha | L\lj)__;l‘,fml; Sablha () Geam Sabha
19 Where are the Dilwara garoup of Jain temples located?

<) Baroda ’ (li\;;}\'munl Abu ((2) Bhuj
20.

! . \ S . ‘ _.;"f
Phe classical Indian dance of Andhra Pradesh is- -

¢\ Kathakalt 1) Odiss @L‘J.flifut‘hipudi

Which of these discriminatory taxes-did iaperor Akbar abolish in 15642
- “F'-_‘_-ﬂ'
JI\.\\ !ﬂ?\tlkill

% -"’IJT ’ d d .y » -
AT vl (C.) Kharg (12) None of 1
Fhe maximum number of Anglo Indians who can be nominated to the Lok Sabha ar
) 2~ B) 3 (C) D) 3

—

18 presented by the Government of [ndia for excellence in sports coaching:
V) Rapy Gandhi Khel (13) Dronacharya award () Arjuna award

(19) Dhyan ChandARand
‘ ;

Ratma award -

24, Children's dav in India is observed on-

B ermvinibiesi lovermhbeas . 12 15
\) November - 12 (3) November - |3 ((2) November - 14 (1) November —l)_@
25. Deodhar Trophy is related to which sport?

V) YVolleyball 3 Football (C) Cricket (D) 'll‘nni::
HIIT - A (H’ITHFEI‘- o - B
AR e Qe Y e ¥
(\) Ow B) s (C) qsmAT (D) freidey
\;‘r LAN &T R 1 a' ?
(V) T R deed (B) Qi e deas () & saeee Seas (D) Mwa viar Sead:
c37 R A By A R ST ¥?
(-\) AEwash (©) fye (D) Fier 39
'd '&ﬁmﬁms&wmwﬂ?mm%’
(:\) RK. sRmyor B) Fufa I (() AR A (19) Fgrea ey
CB. Rifvwtar 3 smr oy Ry r o Rowr &3
(A) USA B) UK (C) d= (D) sfa
(O I & wdor s e ¥
VS segamen (B) s oid (C) PR s () AR, Teah
L W Yo W & vy o SR §2
N o T () e SR Ry C) Sager arEer (D) FEReEd Sg
3 R & X W v T B AP B qul w e © wfes R ¥ aam
) ey B) TR () (D) rgAsw
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20. What percent of 50 is 37

&) 2% B) 4% C) 0% 1) 8%
bl

Aarav starts business with Z 3500 and after 6 months, Bina joins with Aarav as his partner,

After a year, the profit is divided in the ratio of 2 : 3. Calculate Bina's contribution in the
capital.

() 10500 B) F 11000 () T 11500 (12) T 12000

28. Aravind invested an amount of 5000 in a fixed deposit for 2 years at a Compound Interest
rate of 12% p.a. How much amount will Aravind get on maturity in the fixed deposit?

(A) T 5500 B) % 6272 | (C) ¥ 7272 (D) T 8270

29. A boat goes 40 km upstream in 8 hours and 36 km downstream in 6 hours. The speed of the
boat in still water in km/hr is-
(A) 4.5 (B) 55 (C) 6.5 (D) 6.9

30. A man purchased a refrigerator for ¥ 9729 at a discount of 8%. The list price of the
refrigerator is-

(A) ] 9575 (B) T 10557 (CleRl0575 (D) ¥ 10755
31. The value of 1 + tan? 20 =7?
(A) sec? 0 (13) cosec” O (C) cosec? 20 (D) sec? 20

32. A tank is filled in 10 hours by three pipes A, B and C. Pipe C is twice as fast as B and B is
twice as fast as A. How much time will pipe A alone take to fill the tank?

(A) 30 hours (B) 35 hours (C) 50 hours (D) 70 hours

33. What will be the ratio of Simple Interest earned by a certain amount at the same rate of
interest for 3 years and that for 6 years?

(A) 1:2 B) 1:3 €) 1:4 D) 1:6
34. Evaluate: 49-+0.07
(A) 400 (13) 500 (C) 600 (1) 700
35. Find the fourth proportional to 4, 16 and 18.
(\) 42 B) 52 (C) 62 (D) 72
36. Find the average of first 20 multiples of 8,
(\) 64 (B) 74 (C) 84 (D) 94
37. If the cost price is 25% of selling price, then what is the profit percent?
{\) IS““H (B) 2”““ v ((:) 3“UH.“ L\l)\ 35“” 5
38. Find the square root of 841.
(A) 19 (13) 29 ((*) 41 (D\ 01
39 _\{..2__5.)( ﬁ)(ﬁ =y
2 5 3
. s
by | L () 3 (D) 5
40. Find the value of (x + 3)(x + )
Ay 52 4 Ry 4+ 15 3y x?t ex+ 1§ . .
() X e JF b (B) (C) x2 + 15¢ + 15 D) x* + 8x
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4] Find ll‘ltt II(J" nf ]R, 27 ;”ul 3.3,

(A) 0.00)7 ,
/ ’ 15y 0.07% "y 0,3
losed ¢ . 1))} 3
42. A closed planar shape with 4 sides 19 called. j
(AY Se
V2] SUINICIT ( { |
5 | 1',* H Xagon ( ) (J,J'Hi'ir‘l,',;l‘rr;ii

1"}_, ' Ef ;”'r.;..’.'i:"‘i

43. The producy of two numbers is 1380 and their HCF s 6 The | CM

”.‘\ :.r’"l z /
j By 230 () 240

of the numbers is-

~y -

) | {Bx iN)

44. Five times the quantity of x minus 8 is denoted ;4 |
-"r‘ ::f. ( _ p- ¢ { ~

\u}a A ¢ f";) .i"l"' -3 % e (‘; J -~ X l - s- q - g
| (1)) 3(8x;

45. Raju takes 8 hours to do a work. Rajesh takes 1() hourg ¢,
should it take both Raju and Rajesh, working togethe, j,
work?

» do the same work. How long
Ut independently, to do the same

fl \ ]i--—- Il" l i ; ’ illf( .}
/) AAys (BY 2 — davs ) 3 - 4
l:) ) ] </ (_]d:h ;’I )}. 4 L]H'-."r%
( &

}
i’) ‘) r) )
46. A cyclist covers a distance of 2000 m in 3 minutes 2 s¢conds. What is the speed in km/hr
of the cyclist?
f-\) | % *’lfu' 206 f("i G (1)) 46
47. The angle of elevation of the Sun, when the length of the shadow of a tree equals the height

of the tree is -

(A) 07 (B) 30° (C) 45° D) 60°
48. If March 5th, 1999 was on a Friday, what day of the week was on March 5th, 20007

(A) Sunday (B) Monday ((C) Tuesday (D) Frday
49. One side of a rectangular field is 4 m and one of its diagonals is 5 m. Find the area of the

ficeld.

(A) 10 m? (B) 12 m? (C) 14m? (D) 16 m?
50. How many times do the hands of a clock, point towards each other in a day?

(Al 12 (B) 20 (C) 22 (D) 24

HTT - B (1forey)
26. qard F1 FFaa wfawd 3 ¥
(D) 8{';'!1

(A) 2% B) 47 €) 6%
27. ;m-aasoomﬁmmﬂmmtmsmﬁmaﬁ,ﬂmwm*aﬁwgﬁ
7y ar ws it ¥ U F T AN FY 2 . g g g A AT 0 ST §1 ol A

&ram F1 A ¥4 8
A) T 10500 (B) T 11000 (C) 211500

(1) T 12000
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. vw wafda & 8% wetd uv vw YEdoNe 9729 qr A whaTl YFEIGRE 1 gHl-durg 3
\) 20575 B) 2 10357 () T10575 (1)) 10755
T+ e 20 W 75 -
\\1 s¢ce () kH\ t‘tnl'l."ﬁ () {( ) 'Z.'HHL‘L‘” 2“ {l)) H‘*'(J 2”
32w W W A A, B C 10 gef & a2 ¥ CH AR B QA § I B A afy A ¢
QTR X1 T A FFE IV AT FY NS A ReaAr FAT A7
-\ 30 weY B) 35 gel () 50 &l (12) 70 aer
3. wﬁmmm3mw5“ﬁmmﬁmawaﬁawmmmﬁm
FYT RWTT?
(A) 1:2 B 1:3 (C) 1:4 )16 A B
ﬂ'hk W : 49 -+0.07 ﬁ ,
2\ oo (13) 500 (C) 600 (12) 700
. %
(3% 4,16 7@ 18 F1 UqY NqUfa® AT F
(A) 42 (B) 52 (C) 62 (D) 72 Fult
36. 3s & wuH 20 v K A T H Ly
v.- -~
(\) 64 (B) 74 (C) 8 (D) 94 2t
J7. afy amra fea, R ra A 25% ¥, @ a0 v F14 ge !‘(‘Z
(A) 150%a (B) 200% (C) 300" (12) 350% <C
38, 841 F1 THHA AT R ¢
() 19 3) 29 (C) 41 (D) 91 iy
O
$L39. £ x_\/:_)_.xﬁ =7 g8
> 5 3 16
(A) 1 (B) 2 €) 3 (D) 5 18Y
0. (x + 3)(x + 5) F AT AT B
AN X* 4 8x + 15 (B) x*+2x + 15 () x* + 15 + 15 (D) x2 + 8x + 2
LK 1.8,2.7 @ 3.3 F HCF i@ & %q
, ‘LU
G\ 0.003 (B) 0.03 (C) 0.3 (1) 3 _/(z’:
L_fLZ'-- gR Rt arer v avg aend 3PN IE FEarar §- « 20
\) @s (B) sl (L) Ty (D) |rdentore @_,,/
_ _ 1670
8. 2 wEIt w1 quraee 1380 ¥ A 3T HCF 6 ¥ 3o weamit &1 LCM ¥- (o
(X} 230 (B) 230 (C) 240 (D) 250 5(['
4. e \"'7:-/
U AR A geT 8 B W o —

L.} Six - B) B) 5x - 8
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) AT 20
46, v wEwa-araw 2000 ec @ 50 3 WFS ¥ 9@t w3 Ao
Y fweafier 1 wer B? .

(.\) 18 -_'H} () H'J 30 5
' T ey e
AT, gh Y sark w1 wor, sra vws qar B BT R G 1) Te—
7 ‘ O rq () 450 B‘f, Lo m t-
(A () (13) 30 ) 4 . ..
"{l)) (( )"

8. 5 714, 1999 %Y eware o, 5 #rd, 2000 # T &1 $ 7 Rt o
() daan (3) @yaran ) HaTdary

() 10 aay sfey 13) 12 gay HeX () 4 aat ey (D) 16 a# #ret
50 T R X vw wht B ki et A TEH-EEY A Br

(V) 12 (ls) () () 22 (1D) 24
L T PART-C() ENGLISH

e N —— T

2l Choose the correct synonym of the given word from the options given be
EAGER

(\) Impartial (B) [.laborate (C) SIUP (Mrv@

C 52. Choose the word which can best substitutes the phrase given below.

low.

A written account of the life of an individual.

() Autobiography (B) Lipigraph (C) Biography D) Bl

53¢ In the following question, ecach sentence has four portions marked P, Q, R and S.
Rearrange it in the proper sequence in order to make a meaningful sentence.

The student who is sitting in the last row (P) / working on their compositions (Q) / writes
well (R) / behind the two gitls (S)

(APPSR (B) SPRQ (C) QRPS (D) QSRP
\_fi"" Use the appropriate article for the sentence given below. ~
h. 0 cucalyptus tree.
() An (13) ~ () 'The (D) No arucle
,\/55. Choose the alternative which best CXPpresses [h{: lneaniﬂg of the idi()ln/phrase gi\re below.

Check 1n.
(\) 'T'o be extra carceful

(o) 10 scarch or hotel

B) To lgek onc self in
(D) A confirm your arrival at an ; alrpe

. . following sentence.
| N Optiong to compltte the o
R Nobody can tell jokes as 44 Rupa
L4 9™

(A) Clearly (B) Accuratcly

56. Choose the correct adverb from the lye

(D) 1astily

\ ‘hlfg

57,. Choose the correct noun to complete the fo] - ‘;}/6 3
| AOHOwW . ptCHY>’
We cannot delay any longer. We haye te o R
o e oy A .. make gootk - |
(A) Decision (R MAecision —— (12) None of these

o ageadzmcmu
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’\Wn the following que

stion, each sentence has four parts marked P, Q, R und 8, Chonee e
part of sentence

With the error and mark ag your answer. If there is no creor, manrk
' i .
No error (S)' as yOour answer.

One of the problems

(P) / in our businesg (Q) / are that of disposing off the surplus, (R) /
No error (S)

(A) P B) Q ) R (1)) S

Mlmose the correct form of the tense to complete the fullmving sentence.
I always wash my hands with soap and wyter

(A) Before ITsat down  (B) Before I sit do Wi
to cat (O cat

(C) Betore T am sitting (D) Twill sit down to cal

dt W1 O Cat

HU. Choose the appropriate word to complete the sentence.

The building was so old and dilapidated th

at 1t was not

o S =

(A) Habitable (B) Habitat (C) Tlabttability (1) Tabtuating,
\}k Choose the correct adjective from the given options to complete the sentence.

This is the sum in the whole book.

(A) Most difficult (B) Very ditficulty (C) Ditticulty (12) Nore ditticulty

\/62. In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark

'No error (S)' as vour answer.
)

The reason why (P) / he was rejected (Q) / was because he was too young. (R) /
No error (S)

(A) P (B) Q (C) R (12) S
63. Choose the correct verb from the given options to complete the sentence.

The injured to the hospital in an ambulance.

(A) Were taking (B) Was taking (C) Were taken (1)) TTave taken

64. Choose the correct antonym of the given word from the options given below.
~ MISCHIEVOUS

(A) Annoy (B) Naughty (C) Admire (13) Smuall
\}5-:' Rewrite the sentence in direct speech.
His father ordered him to go to his room and study.

(A) s tather said, "Go to vour room and

(B) His father said to him, "Go and study in your
hlud},‘"

room"

() His tather shouted, "Go right nOW (o your (D) s father said tirmly, "Go and study in your

study room" room"

/66, In the following question, each sentence has foys portions marked P, Q, R and 8.
Rearrange it in the proper sequence in order tq make a meaningful sentence,

Adventure programmes (P) / adult programmes (Q) / more than (R) / children witch (8)
_ (.\) PSRQ (B) SQRP (C) PRSQ (12) SPQR
67. Choose the ¢

¢ct synonym of the given word from the options given below.

f.B) \-'uh_l'.ll)l(' lk(‘) ll'l's'il“(l (l)) \'illli.llllt‘



http://aglasem.com/

y & a c ri‘?t‘ : - . .-
68. Choose the correct preposition from the Blvey options to complete the sentence, o e
Suﬂ!‘;t‘t- rd

The work was completed

(A) For B) In A D) by

69. Choose the misspelt word. A

3

lllf\) \Y( }hl"'ll](“ {-l*)/f.‘T];”]u
V/_ j

70. Choose the correct antonym of the given WOrd from he options given below,

DULL -~ '\\

(A) H”Tiﬂg (B) Coloured Mzht A2) Youtht

Directions (Q. 71 -75): Read the following pPassage carcfully and answer the questions given
below.

#
ﬂ“‘ﬂ“

Have you ever heard someone use the phrase «g, . in a blue moon?” People use this
CXpression to describe something that they do noy do very often. For example, someone
might say that he tries to avoid eating sweets becayge they are unhealthy, but will cat
chocolate “once In a blue moon.” Or someone whg does not usually like to 20 to the beach
might say “I visit the shore once in a blue moon.» While many people use this phrase, not
¢veryone knows the meaning behind it. The first thing to know is that the moon ttself is
never actually blue. This is just an expression. The phrase “bye moon” actually has to do
with the shape of the moon, not the color. As the moon trayels around the carth, it appears
to change shape. We associate certain names with certain shapes of the moon. For
¢xample, when we can see a small part of the moon, itis called a crescent moon. A crescent
Is a shape that looks like the tip of a fingemail. When we cannot see the moon at all, it is
called a new moon. When we can see the entire moon, it is called a full moon. Usually,
there is only one full moon ¢very month. Sometimes, however, there will be two full moons
in one month. When this happens, the second full moon is called a “blue moon.” Over the
next 20 years, there will only be 15 blue moons. As you can see, a blue moon is a very rare
event. This fact has led people to use the expression “once in a blue moon® to describe
other very rare events in their lives.

71. Using the passage as a guide, it can be understood that which of the following sentences
does not contain an expression?

(AA) Rohit has lost his mind B) An Apple a day kw]m the doctor awav

(C) T will mow the grass after I finish my D) It's never a bad ttme to start something new
homework

. " » o .
72. The author writes, "As you can see, a blye Moon js a very rare event." The purpose of this
statement Is to-

() Answer an carlier question ‘B) Provide an example

(CC) Support ; oming conclusic ) 2 BEEVIOUS Staternes
() Support an upcoming 101N ‘D) Challenge a previous statement

"hic he following woul Ing somethinge “once in -
73. Which oft”e g d be a googq eXample of someone doing something “once in a
blue moon”’?

() Aarushi likes to go to the mountains eVery | 1 arely remembers to take out the trash.
: RB\ \l\hll racd

weekend. Aarushi goes to the MOuNtyyy. 1 takes out the trash once in a blue moon
once in a blue moon Akhit
() Shailu hates to wash the dishes . HmEHmes torgets to do his
e o . " 4~,' . f \ > *115 . ™ 2 : _ .
Neverthelc ss, she does 1 Cry day. S]nilu RDJ Khus rk l\'huﬁhl fl?lgt‘lﬁ to do his
washes the dishes once in 5 blue Moo homeW \ once in 4 blue moon

wiOf
h{")ﬂ]f' W N S
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74. When does al ‘
¢S a blue moon happen in Naturep
“\) When there are
month

two tull ns 1IN one i3y W hen (e moon has a blue colory
VO T TOoTs :1

A he we can only see a small part of the
L) When we cannot see the moon at all 12) \ he l he
(11001

- - » be 15 blue moons.” 'Thi "
/5. The author states: “Over the next 20 years, there will ”“lj’ be R I'his Mcang
that over the next 20 years, a blue moon will happe?”

<< than once a vear
() Onee a vear (13) |ess ¢ )

. SV R — D) Not enough information s provided
N . . Wl ( i i

PART - C(ii) &

——
e —

\) \mg B) a7 (C) #ATE (D) g

Al Iwg F I w7 F [/f@T -

[) TR §&d g9 & A1

IT) qe=a TSht g

I[II) dfar ¥ Res & v

IV) 35+t 93 ggAT=

(A) L 1L IV, 111 B LIV, LI (C) IV, 1L, 1, 111 (D) IV, 1, 11, 111

\/8. HAFTT A agfav -
= Rear W ¥ |
) g5 Rreamo | B smfearrel () s Reaa ¥ D) s Rear @ |

qg VS e J[g ¢ |

S WasFagy | (B) agavs TN AT ) () I U o A & | (D) ag zvs fraary awa b

. e g g —

) & D) &
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(D) BE &1 aTd 1 o |

() 3797 greTeR (B) dwar arges C) aRAT args (D) sfafaa dear ams

IT) T gegslt Sorer & #ffay aga
I[IT) 91 #T fRIor & qehse

V) 38& A1 smrd #erd
(A) L 11, 111, IV (B) 11,11, 1V, T (C) 11,1V, 11, 1 (D) 1, ML, IV, II

() 3reTfieT & sTal & g7 o AT AN A Bl (B) yefE & Tl A Hgorar argr fok 319 JeT A

T {7 T 67 k7 @1 0T T8 67
() e & gedl A F6 6 I AN R BT (D) e @ 7081 § IO I 3e¢ Ha qr 1
UALALEL TG B
89. faatw weg fAf@T .-
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. gyigarh aeg RAFT -
Ty

V) faawary A3) s (ORCEEIRNIE ) Yarary ahea

922. Raw v v -

WANRTA

N ogerre (1)) artona,
(A\) Ty (B) warf OELIGIE )

93. W& we ¥ REFa T HRT -

ARy F

A) A (B) e (C) well (1)) a3

9. T UG ffAw:-

Sraer 3k wiftcw & R FEU § |
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